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m(w) = 5 (w - CZVZ(yi,mjw)) (14.47) | m(w) = 5 (w - CZ:VZ(y,;m,Tw)) , (14.47)
260| EH 14.2 ’;1 1;1
() = 5 w+c;v5(yi,mfw)H. (14.48) | r(®) = 5 w+c;w(yimfu“z)H. (14.48)
R (14.50) |l 2] ®) > Ly w*) + Vi(yaw) T (@ - w), (14.50)| L(yiw{ @) > L(ysm] w*) + Vi(yz] w*) " (@ — w*), (14.50)
= (1451) Lyix] w*) > (y;, 2] @) + Vi(y;, 2] w) " (w* — o) (14.51)| L(yie] w*) > L(yx] @) + VL (yx] @) (w* — W) (14.51)
261 X (1452) Vi(yix] w*) T (w* —w) > Vi(y;, ] w)" (w* — o) (14.52) | Ve(yiz] w*) " (w* — @) > VL(yx] @) (w* — ) (14.52)
3 (14.53) T(w* —w) + ci Vi(ys, @] )T (w* — ) <0 (14.53) | w*T (w* — ) + Ci:w@/,,ac?wmw* —w) <0 (14.53)
i=1 =1
T25 417H ku%(mfcgwwzf@) g%‘m+cgw<%,zm)H ku%(mfcévammﬂ < %‘m+cgvz‘(y,zjw)"
265 TH5 10 17H —E{ i, [AIC(R)] = By yn [Bx[log(p, (2))]] + O(1/n’ %JE{Z,}L‘[AIC(JC)] =—2E(}»

«, [Ez[log(pg, (2)]) + O(1/n?)
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